Subject: Re: Problem with Geane (Error in "runRECO2.C")
Posted by Ralf Kliemt on Tue, 29 Jan 2008 16:36:56 GMT

View Forum Message <> Reply to Message

Probably this line makes no sense after all since xc is set below without being used:
/I translation
XC = XC - S;
// rotation
xc = TMath::Cos(alpha)*xcrot - TMath::Sin(alpha)*ycrot;

Additionally xc is not set before, this should be avoided. So this might be the cause of the
segfault and maybe it depends on the system how uninitialized variables are treated.

| found this on line 1061 and 636, too.

Ralf.
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